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QUESTION 1

Post-mortem analysis occurs in which of the following process groups?
A. Closing

B. Pre-project setup

C. Monitoring / controlling

D. Planning

Correct Answer: A

QUESTION 2

A project manager sits down to discuss with team members the strengths and weaknesses of a project. This is BEST
described as:

A. managing stakeholder expectations.
B. post-project review.

C. work performance review.

D. human resource management.

Correct Answer: B

QUESTION 3

The initial quality measurements used to determine if a variance has occurred is known as the:
A. Quality checklist.

B. Baseline.

C. Quality metrics

D. Control limit.

Correct Answer: B

QUESTION 4

The schedule estimates for a particular work package that is underway were not properly considered and the timescales
are too tight. Which of the following methods should the project manager select to investigate?

A. PDM
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B. SPl and SV
C.CPM
D. Issues log

Correct Answer: B

QUESTION 5

Which of the following is an appropriate risk response for diverting a portion of the project risk?
A. Avoiding

B. Sharing

C. Enhancing

D. Exploiting

Correct Answer: B
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